SHNEFE—RZT12AWIE FERBDBELIRILLERREK
(BT
] 1B X LE (%) g
= 8 fHIERTIODEE| # IE %8 5 WA | BER %) i
1.8 = = 217,170 217,170 0.8 0.8
2. 3 =1 3,075,984 3,075,984 11.5 11.4
3. B 4 % | 10,381,561 230,180| 10,611,741 38.9 30.4 2.2|EPHEEXIBHINEE GBIGHD
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6.B M XK E ¥ B 464,720 464,720 1.7 1.7
7.8 T =4 541,632 541,632 2.0 2.0
8. PN =1 2,496,850 2,496,850 9.3 9.3
9. H Vi) = 811,382 811,382 3.0 3.0
10. ¥ B & 3,447,569 3,447,569 12.9 12.8
M. 8 & 18 = 1 1 0.0 0.0
12. 1 & = 2,823,277 2,823,277 10.6 10.5
13. § 52 & 114,072 114,072 0.4 0.4
14. % 1 =1 30,000 30,000 0.1 0.1
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(FE) MR DWW T, S O BIR TAF A B L WEE R H Y £1,




